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International Junior Sudoku/Puzzle Competition 2020
Welcome to the web platform of the world puzzlers including the juniors.

We are happy to invite you to the 1st online competition, IJSPC2020.

The participants can play the puzzles with the world champions just at home.

You can expect world puzzlers prepared by the top class puzzle designers from all
over the world. Most of designers are the past World Puzzle/Sudoku championships
and recommended by each nations’ representative. We will host various
competitions especially for the youth players, including U08, U10, U12, and U15.

Both of IJSC and IJPC will be held four times a year at least. And we will host a
World Series as a final competition in every November. The format of the
competitions will be paper-solving with transcription of solutions and each round
will be open during one and a half day. The length of each round will be 50 minutes.

This competition can be participated in by any players who did register already this
year. However, all participants have to pay the annual membership fee since next
year.
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U08 HHAE (Points table for U08)

- U08 : To be born in the first day of January, 2012
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2012'4 19 1Y E£ 1 o|ol| 244g AL U0 ol SHgtELict,
- oS0t ofl4 Bo| Alztol| iz} S BAOiC ChEA ohZom, ofzte BX|7H A

F2[AHL 212 A7 oA E2l= &2 HA=7E UAS &+ USLIEL

Mo

HZ (Puzzle) Points
1. &= (Disconnect Three, No Three in a Row) 3

2. &= (Disconnect Three, No Three in a Row) 9

3. &% of%l (Grand Tour, Loop Finder) 6

4. 2% of8l (Grand Tour, Loop Finder) 8

5. 0|2 77| (Different Neighbours) 6

6. o] 9tE7| (Different Neighbours) 13

7. Alphabet Link

8. Alphabet Link

9. HHZIA (Numbrix)

10. HZIA (Numbrix)

11. 7F=& (Kakuro)

12. 7}2& (Kakuro)

13. 41807] (Slitherlink)

14. 5CHet &F HSl7] (Wolves & Sheep Slitherlink])
15. Ct2|3l7]| (Bridges)

16. Ct2[9l7| (Bridges)

A (Total) 100

N O NPA~AOORANDPOTW
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U08 Puzzle

1 ~ 2. 4= (Disconnect Three, No Three in a Row) [3 + 9 points]

7t2, M2, cHZtA Higko 2 ZF2 ZHo| 37F H&TA LtQX| AUEE 7t Fiof| OLF X &
SiLtE 'Fol3AMl2.

ZHEtIE e FAIE 2o Lofrte B2 o/aisy 2L OLF X258t 9/2Gi/ct of
AlS| FL ZFEFLE XOXX, OXOX ¢L/ct

Fill in the grid with O's and X's so that three consecutive identical letters in a row,
column or diagonal never occur.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right (top to bottom). For example puzzle, answer key would be XOXX, 0XOX.

O X 10| X

X| ®p[X|O
X| |O 0| X
X

B (O X

X

OO0 (X
X O |X| O

O

3~4, 2% o3l (Grand Tour, Loop Finder) [6 + 8 points]

D= H(FAd)of| dE2 130 siLtel fetnz|E Hdal| 42, ZA2MHEoll= ol R|Lp7tz|
S&LIct.

A2 7tE, ME ggoent 13 £ Qlonf, 12 Mol AIstAHLE H7A = o FL|ct,
YA - 2 tEEON 2 FL HLE YA FH2. oKe FR, FEEEL

Draw a closed loop into each grid point(star) that runs horizontally and vertically
and passes through each white grid points exactly once. Shaded grid points(black
star) cannot be used by the loop. Some loop segments are given.

Answer Key: Enter the number of turns in each row. For example puzzle, answer
key would be 44444.
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5 ~ 6. o|% OtE7| (Different Neighbours) [6 + 13 points]

22 B2 2o SEE 7 §ITk| s22t0[(0), HIE (o), HZ(A) E= H(x)
% SILHE J3{FA|8.

FEEE : HE BAE JfEF0 So7RE £%2 2/EG FAHR. (E22M0[E C HEE
S, HEE T F2 A) dAlel TR FEHIELEL ASCA SCTA g/L/ct.

Place a symboll(circle, square, triangle or star) into each of the empty cells so that
identical symbols do not touch each other.

Answer Key: Enter the contents of the cells on the two marked rows from left to
right, using C for a cricle, S for a square, T for a triangle and A for a star. For
example puzzle, answer key would be ASCA, SCTA.

7 ~ 8. Alphabet Link [3 + 5 points]

22 FAIE| sfLte| Moz ofojAMle. A2 7tE, ME e zqh 1.3 4 Qlon], A
& CFE Ad7[2| nxfsiMEs ¢ gulct 2= 7hof| S Jo{of FL|ct,

FEEE : HE BAE Fof4 Zf 7R ofH fmfhlo) Lo Q=R gEe] AR, A/
ZR FEELEE CCCB CAAAYLILY

Connect identical letters by lines of horizontal and vertical segments that do not
cross or overlap each other. All cells must be used.

Answer Key: For each marked row/column, enter the letter for each cell belongs to.
For example puzzle, answer key would be CCCB, CAAA.

C|B| &p BJ

B
Al Al B[ [A—A
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9 ~ 10. HHZIA (Numbrix) [4 + 7 points]

T5E N7RR[e| £aHE T HAGE W A7 BERIL|CE Chg 2AL7L o|d =2t 4f5tzte EH 47t
Foll dofof gL|cf,

HHIE : HE BAE Fol EoUte £AE YA FM2. £ A2 +¢ FP Yol 22t Y
GYLict s/ 72, FFBEE 2569 6521 Peict

Enter a number into each empty cell, so that, including the given numbers, all
numbers from 1 to N, where N is the number of cells in the grid, appear exactly
once. Consecutive numbers must be placed in horizontally or vertically
neighbouring cells, not diagonally.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from

left to right [top to bottom). Enter just the last digit for any two-digit number. For
example puzzle, answer key would be 2569, 6521.

4 34|78

of Bp|2|56 9]

1 1 [14113[10
16 D |16/15/12041

11 ~ 12. 772 (Kakuro) [4 + 8 points]

Ztzko| HiZtoll= 18E 97z 22t F 17HTF M A2, ZH2M B30 FolZl £= 1 FoilA
Mol 22r50| Z%S TWELIC ALE 2l 7hof| FoliM ZH2 Eols E2 AR o2 M & £
AELIct

FEAE : HE BAE Foff Fol7Hs LAE YA FAHR. TIE R2EL FA/EL/C, dfAle F
o

2 FEAEEL 81912 9392 ¢L/ct

Enter a number from 1 to 9 into each white cell. The numbers in black cells indicate
the sums of the numbers in the horizontally or vertically adjacent “words”. Within
each word, no number can appear more than once.

Answer Key: Enter the contents of the cells on the two marked rows [columns] from

left to right (top to bottom), ignore the clue cells. For example puzzle, answer key
would be 81912, 9392.
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13. A9l7]| (Slitherlink) [4 points]
Hat A Atolof Mg 10of siLte| f+Ena|E Mol Al 32 Ao WASHALE 77
M F guleh, o7l A= FHHo| HE2 F o|L} Jofof 3H=Z| & TgL|ct,

o

o} A 2
L 7kof FYAE O/l ZAQ. ofijo) Ze

[ZE : Zf Jf2Fofr s ] orEof
ST ELE 155344 ¢/L/C

Draw a closed loop along the dotted lines that uses each grid point at most once.
The numbers indicate how many edges of the respective cells are part of the loop.

Answer Key: Enter the number of cells that are inside the loop for each row. For
example puzzle, answer key would be 155344.

oy
ogh

N
N

- - - - . . . .

3.1 0
-0-1-1-

30 3 1[3
2 2 11 ]2

14, 5ot F 41917] (Wolves & Sheep Slitherlink) [7 points]

dol7|e| Falg whEL|CE Lo Aghma| dhof, oke £8Hma| otof glojof F|ct,
AL © 2f FFEFOIN 22| OFEol Yk 7k YA E Y2 EAL. oAl FL,
ZetF L 23371 QJL/ct

Apply Slitherlink rules. Also, there are some sheep that must be inside the loop and
some wolves that must be outside the loop.

Answer Key: Enter the number of cells that are inside the loop for each row. For
example puzzle, answer key would be 2331.

333 3]3][3
L A+ ¥
3 22 3 2[2
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15 ~ 16. ct2|%l7| (Bridges) [6 + 7 points]

ZA7E A3l g AASHs dE 2olFAL. BE HE 12 Folls 2A7F ATl fE9|
D& AZE|o| Qlofof FLch, FofRl 2Ap= 3 Yol LiE= o] TieF TFLIC
CHE @ Afolofl= z|oi 2707t |RF Mg 25 £ on, A72] Az W AtsA
FuCk,

D OtE Y ofF cfal A ME G ofF cfalel HPE 2tz AMHE Y
2o MR, ajA/e) TR FEELEL 3 2 gL/

Connect the islands represented by circles via bridges, so that all islands are
interconnected. Bridges can be placed horizontally or vertically, and they cannot
cross each other. Two islands can be directly connected by at most two bridges. The
numbers indicate how many bridges start in the respective islands.

Answer Key: Enter the number of horizontal double bridges followed by the number
of vertical double bridges. For example puzzle, answer key would be 3, 2.
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U10 BHAEE (Points table for U10)

- U10 : To be born in the first day of January, 2010 ~ last day of December, 2011
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

- 2010 1€ 1946 20114 129 31% Atojol| E445H Atk U001 SHEEILICY.
- hol 2ot ofl i Zo| AlZtel maf uiHES ZA|otct chEA| o7 en, o2 FAI7H 2

(L
F2ALE 212 A7 oA E2l= 52 HAR7E US & UFHC

HZ (Puzzle) Points
1. Four Winds 5
2. Four Winds 7
3. E2|23 (Trilogy) 14
4. E2|22] (Trilogy) 17
5. ElE (Tents) 3
6. EIE (Tents] 4
7. 0t# (Masyu) 3
8. Ok (Masyu) 4
9. £Z2 (Aquarium) 7

10. £33 (Aquarium)

11. 7F=& (Kakuro)

12. 7} 2 (Kakuro)

13. Ml7| (Stitherlink)

14. 5CHet &F HSl7] (Wolves & Sheep Slitherlink])
15. Ct2|3l7]| (Bridges)

16. Ct2[9l7| (Bridges)

A (Total) 100
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U10 Puzzle

1 ~ 2. Four Winds [5 + 7 points]

RAHEE AIRSM 2dE JojxAlQ. MR 7R B NE HFe2t 12 4 Qln, 1 7Y
2 VHEE 2o 4747tR| 7hsRLIch ol fA = 3 KA RE LE2 Aol 2[5 7|
el 92 TRLCE BE RIZhof| o] Jo{x Qlojof to{, 4o| &zt = CfE A THEA

Lt BESAL oF gu|ct,

HEIE ;7 FtEEOYN THE YR I YA 32 #19] HolE YA FMR. 2 Yo
2 3,2 0] gir}? 02 YL/t AKS FR, HFTEL 3121 YLirt

Draw horizontal and vertical lines, starting in the numbered cells, so that each
empty cell is used by exactly one line. Each number indicates how many cells are
covered by lines starting in this cell, not counting the numbered cell itself. Aside
from their starting cells, lines cannot enter cells with numbers.

Answer Key: Enter length of longest line segment in each row. Enter ‘0’ if there are
no line segments along the row. For example puzzle, answer key would be 3121.

6| |t 6
2 [ 7 =P

3 ﬁ
3~ 4, EZ|22] (Trilogy) [14 + 17 points]
Zb 2ol &32t0j(o), HR (o) = MEZ(a) F SHtE JFHL. 7t2, Mz, thZHd Befe
2 M| 7F AL3HM Z2 0| LEAHLE AT ChE AST Ao QF FHuck,
FEHAL - EE BAE Fof Fol7fE £EFF EH FAHR. (F22/0/E C HELE S H2ET)
A/ FR, FEZEL TSST, TTCT 2/L/cf
Place a circle, square or triangle in each empty cells, so that three consecutive
symbols horizontally, vertically or diagonally cannot be all the same or all different.
Answer Key: Enter the contents of the cells on the two marked rows [columns] from

left to right [top to bottom), using C for a cricle, S for a square and T for a triangle.
For example puzzle, answer key would be TSST, TTCT.
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5~6

Zofzl LiRo| A5tz Qe 47H 3 17t0f RIES SotZAL.

J8|1 52 ElEQ| Foll ¥rEA| LhETt Qofof FLich (&, Lpset &
i

o E
— —_
2| Mz TRoz o|RoliM= F HLIch BPZo| ol xat= 3 ZFollM RIES| M2E

FHEFIL 7} Ff2FOIN H2O02 HIETf LEQE THS YZoA T B 7HIR| Y2 FAL.
(HIE7} glo® 02 92 ofr/e] ZL, HetaEk 6313173 YL/t

Place some tents into the grid, so that they do not touch each other, not even
diagonally. Each tent must be paired with a tree and placed horizontally or vertically
adjacent to that tree, and there must be exactly one tent paired with each tree.
Trees can be adjacent to more than one tent. The numbers outside the grid indicate
how many tents appear in the respective row or column.

Answer Key: For each row from top to bottom, enter the column number of the
leftmost tent appears. Enter ‘0’ if there are no tents in the row. For example puzzle,
answer key would be 6313173.
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7 ~ 8. Ot (Masyu) [3 + 4 points]

Mg 10| siLte] ATDEIE el ZMR. 12 Mo| LatsirLt BAME of Uit

(1

42 Y1t 3 o] 2243l 7h2 BEEA] Aof R|LpZfL|Ct,

42 ¥e 3¢ I A2|ojME e He thrloll 3 7hef oFF| 1742 2[4do = R|Lt7tof fLict,
2 fle| B¢ 2 z2|ol|ME 2oz Fafste Chilol AR 17HY F 2|4 17 o2 A& o
of gLIct.

FEIZE : 2t Ff2FofA 12 72 ZLE 2/ FHR. dA/8 FR FEHALELE 222202 ¢
L/t

Draw a closed loop into the grid that runs horizontally and vertically and passes
through each cell at most once. The loop must go through all cells with circles. In a
cell with a black circle, the loop must make a turn and pass straight through both
cells before and after the circle. In a cell with a white circle, the loop must pass
straight through and make a turn in a cell before or after the circle (or both).

Answer Key: Enter the number of turns in each row. For example puzzle, answer

key would be 222202.

-----------------------------------

-----------------------------------

-----------------------------------

———————————————————————————————————

———————————————————————————————————
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9 ~ 10. £&3 (Aquarium) [7 + 14 points]
2 Hdoz EMQl ZF Joict M E= URE MAUSH FA|Q. ofof MU | b £E QU

GLict vPgof o7l £24H= 1 FoflA MG 7He E

7t FY Qtof|A 7HS AHEh mijof= A4S 7H

LIk (ZFRfol7h QUCHH clle|2 & £ UFLICY.

EQE G QoM M 7hE0| SiLtR olofx S B¢ I FEQ| 2h¢ Fol= Zolo FLcth
=

HEHIE  HE EAE SN 2 7H) YHYHE YA FHL. (YEHHH 1, 1H] grod 0)

Lo— L

1°
=
b
1o
4B

~—

gJAle] 7L ZFEfFCE 110011, 100000 ¢/L/Cf

Shade some cells in the grid such that each number outside a row or column
indicates the number of shaded cells in that row or column. Within each region, a
shaded cell may not have an unshaded cell directly to the left, right, or below it.
Additionally, a continuous group of shaded cells within a region must have a
constant height, if possible.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right [top to bottom), using 1 for a shaded cell and 0 for an unshaded cell. For
example puzzle, answer key would be 110011, 100000.

521 3 1 521 3 1
5 5

B4 B4
4 4
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7IZ 2 (Kakuro) [3 + 4 points]
toll = 15E 9712|e] £ 3 1703 M FAH2. A
o| 2%rS YUgtLict A4El B Ftof giEiM 7 Fof

N =
-\'l- —_—
16 2

N ro N

n ¥

5 .
ro 1
H>

=

o
h i
I
[l
o

ooy

oy §
Ky
In

HE FAE Fof SO £RE /2o FHQ. FIE BEL BAFICE ofile) F
%,45"4__# 81912, 9392 ¢/L/cf.

Enter a number from 1 to 9 into each white cell. The numbers in black cells indicate
the sums of the numbers in the horizontally or vertically adjacent “words”. Within
each word, no number can appear more than once.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from

left to right (top to bottom), ignore the clue cells. For example puzzle, answer key
would be 81912, 9392.

T

Jo

13. 419l7| (Slitherlink) [3 points]

M2t A Atolo Mg 1of siLte] A3I2|E el FMR. 12 Mo| BalsiALE BAHME o
Lk, Zof3l £abe FeHo| 412 Y Sio|Lt Jojof oHex|E Y

YEIE : 7} FEFoN 2EE HEof Gl 7He FJAE
L£E£ 155344 /Lt

Draw a closed loop along the dotted lines that uses each grid point at most once.
The numbers indicate how many edges of the respective cells are part of the loop.

Answer Key: Enter the number of cells that are inside the loop for each row. For
example puzzle, answer key would be 155344.

= TYLC
o
1=}

j2icl EA2. oS e, FEHE
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Lot & ASl7| (Wolves & Sheep Slitherlink) [5 points]
AdA71e] #2l& mELICL St aae] glof, &2 a2az| Qtof| Qlojof gct.
HEHAE 2} Jf2FoYM 2EDE PHFo| Qe 7H H+E YA FHR. S FL,
FEELE 2337 9/L/ct
Apply Slitherlink rules. Also, there are some sheep that must be inside the loop and
some wolves that must be outside the loop.
Answer Key: Enter the number of cells that are inside the loop for each row. For
example puzzle, answer key would be 2331.

333
w o ¥\

w
w
w

15 ~ 16. Ct2|%l7| (Bridges) [3 + 4 points]

2217t M3l Yg |ZstE Mg JojFAM2. BE ME T2
ZE[o] Qlofof LIk, Fo{R A= O YofA L= Q| 74
ot @3t Ct2 ¢ Atolol = Z[cH 27{7pz[gH Mg 18 4 Qlom
L|ct,

FEIL ; Jf2 Y OfF Cf2 Jrot ME Y ofF 129 HAE 47t 22 g2 £

MR, ofrlel FL, FEFLE 3 2 gLt

Connect the islands represented by circles via bridges, so that all islands are
interconnected. Bridges can be placed horizontally or vertically, and they cannot
cross each other. Two islands can be directly connected by at most two bridges. The
numbers indicate how many bridges start in the respective islands.

Answer Key: Enter the number of horizontal double bridges followed by the number
of vertical double bridges. For example puzzle, answer key would be 3, 2.

http://puzzlerace.org




U12 Bl E (Points table for U12)

- U12 : To be born in the first day of January, 2008 ~ last day of December, 2009
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2008'H 19 12EE 2009 12 31 Y Atojo| 445t Ath2 U120l SHRFEILCE,
- tto| = eof ofl4k Eol Al7bol| mi2t viHE FAotch Ch2A| ofziem, ofzR ZA7t A

= oi
F2[AHL 212 A7 oA E2l= &2 HA=7E UAS &+ USLIEL

HZ (Puzzle) Points
1. Four Winds 3
2. Four Winds 11
3. Smashed Sums 6
4. Smashed Sums 9
5. SEtH (Lighthouses) 3
6. StH (Lighthouses) 11
7. Ok (Masyu) 2
8. Ok (Masyu) 3
9. £& (Aquarium]) 8

10. £Z2 (Aquarium) 14
|
|

11. #&7| (Star Battle) 5
12. 57| (Star Battle) 5
13. M9l7]| (Slitherlink) 5
14. A9l7]| (Slitherlink) 5
15. Ef} (Tapa) 4
16. EfI} (Tapa) 6
A (Total) 100
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U12 Puzzle

1 ~ 2. Four Winds [3 + 11 points]

RAZHRE AIRHA 2E JojRAMle. A2 7IE EE ME Yo Ra 33 £ 9, O 7Y
S VHEE 2(ci 47072] 7Hs et Fo{3 KA O KAIREE LR o] XfR[SH= 7He
o S-S TELIct RE BIZto| Mo J0o{x Qlojof 5jn{, o] A = cfE M2 ThtA

Lt BESAL oF gu|ct,
HEAE : 2 F2FN F}2 YR Y P T2 (9] Zo|E YA FH2. B Yo
2 3,2 0] gir}? 02 YL/t AKS FR, HFTEL 3121 YLirt

Draw horizontal and vertical lines, starting in the numbered cells, so that each
empty cell is used by exactly one line. Each number indicates how many cells are
covered by lines starting in this cell, not counting the numbered cell itself. Aside
from their starting cells, lines cannot enter cells with numbers.

Answer Key: Enter length of longest line segment in each row. Enter ‘0’ if there are
no line segments along the row. For example puzzle, answer key would be 3121.

6| |e——— G
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3 ~ 4. Smashed Sums [6 + 9 points]

NXN Afo|2 ZA|T 7|20 2 7} 7t2F, ZF Mz&o 1588 (N-2)712|2] 2AE0| 3 tHA Fof
ALch L] 27H2 S AL,

HPZo| o2l 22h= 1 FollM MG 27F Afojof| Qe RE
Yt AE : HE TAE Fof Eol7tE 234E Y FHL.
2 FEHALE 21XX3 23X1X ¢/L/cf

Enter numbers from 1 to (N-2), in an NxN grid, into the grid and shade the
remaining cells, so that each row and column contains each number exactly once as
well as two shaded cells. The numbers outside the grid indicate the sum of the
numbers between the two shaded cells in the respective row or column. A sum of 0
means that the shaded cells are adjacent.

Answer Key: Enter the contents of the marked rows [(columns) from left to right [top

to bottom), using X for a shaded cell. For example puzzle, answer key would be
21XX3, 23X1X.
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~ 6. 5LtH (Lighthouses) [3 + 11 points]
= 7

o Mg EOIRA2. o] 27|t 1R USLICL Sl $AH 2 13k Y2 2ol
BE o] HAF TUIch 2t HoHE B M2 CIE o 23 b st Anit

£ & glgulct
/=

[« [}

U=
FEIE ¢ 7t Sf2 oA H2OZ HFF LEQE 7HS YUBoik I MR TIIX| i FAL,
(4f &”25’ 0% 2/%) dlr/el 3R, FEEEL 204005 L/ct

Place ships [size 1 cell]l in the grid so that no ship touches another ship or
lighthouse, not even diagonally. The numbers represent lighthouses and indicate
how many ships can be seen from the given lighthouse in horizontal and vertical
directions. It does not matter if there is another ship or lighthouse between the ship
and the lighthouse. All ships can be seen by at least one lighthouse.

Answer Key: For each row from top to bottom, enter the column number of the
leftmost ship appears. Enter ‘0’ if there are no ships in the row. For example puzzle,
answer key would be 204005.

B o H
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7 ~ 8. Ot (Masyu) [2 + 3 points]

Mg 10| siLtel ATDEIE el ZMR. 12 Mo| LatsirLt BAME of Uit

(1

42 Y1t 3 o] 2243l 7h2 BEEA] Aof R|LpZfL|Ct,

42 ¥e 3¢ I A2|ojME e He thrloll 3 7hef oFF| 1742 2[4do = R|Lt7tof fLict,
2 fle| B¢ 2 z2|ol|ME 2oz Fafste Chilol AR 17HY F 2|4 17 o2 A& o
of gLIct.

FEIZE : 2t Ff2FofA 12 72 ZLE 2/ FHR. dA/8 FR FEHALELE 222202 ¢
L/t

Draw a closed loop into the grid that runs horizontally and vertically and passes
through each cell at most once. The loop must go through all cells with circles. In a
cell with a black circle, the loop must make a turn and pass straight through both
cells before and after the circle. In a cell with a white circle, the loop must pass
straight through and make a turn in a cell before or after the circle (or both).

Answer Key: Enter the number of turns in each row. For example puzzle, answer

key would be 222202.

-----------------------------------

-----------------------------------

-----------------------------------

———————————————————————————————————

———————————————————————————————————
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9 ~ 10. £&3 (Aquarium) [8 + 14 points]
2 Hdoz EMQl ZF Joict M E= URE MAUSH FA|Q. ofof MU | b £E QU

GLict vPgof o7l £24H= 1 FoflA MG 7He E

7t FY Qtof|A 7HS AHEh mijof= A4S 7H

LIk (ZFRfol7h QUCHH clle|2 & £ UFLICY.

EQE G QoM M 7hE0| SiLtR olofx S B¢ I FEQ| 2h¢ Fol= Zolo FLcth
=

HEHIE  HE EAE SN 2 7H) YHYHE YA FHL. (YEHHH 1, 1H] grod 0)

Lo— L

1°
=
b
1o
4B

~—

gJAle] 7L ZFEfFCE 110011, 100000 ¢/L/Cf

Shade some cells in the grid such that each number outside a row or column
indicates the number of shaded cells in that row or column. Within each region, a
shaded cell may not have an unshaded cell directly to the left, right, or below it.
Additionally, a continuous group of shaded cells within a region must have a
constant height, if possible.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right [top to bottom), using 1 for a shaded cell and 0 for an unshaded cell. For
example puzzle, answer key would be 110011, 100000.

5 21 3 1 5 21 3 1
5 5
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11 ~ 12. #47| (Star Battle) [5 + 5 points]

7t 7t2E, 4 MEE, F2 A2 MRl ZF dHoll o £apetE2| Ho| SofgLict. thZt
M S TEM M2 k2 E 27071 Hollle & elatich

FEHEL o 2t Ff2FofH (AECZ) ol LfoL 7hHe EIEofA F Yl 7121z 9/ FA2.
Al FR, FEIEL 31524 QL/ct

Place stars into the grid, so that there are the indicated nhumber of stars in each row,
column and outlined region. The stars do not touch each other, not even diagonally.
Answer Key: For each row from top to bottom, enter the column number of the
[leftmost) star appears. For example puzzle, answer key would be 31524.

1% 1%

----------------------------------------------

*

----------------------------------

13 ~ 14. M9l7| (Slitherlink) [5 + 5 points]

dat A Afolof| S Iof siite| etua|lE gHdsl M. 32 Aol BASHALE BAME ¢
ok ol 2at= FHo|| S B FEOILE 20fof SH=A|E TELICL

FEHAL : Zf Jt2FofM @ 1d] oHFof Qe 7o) Jf+E QE FAHL. dAAel FR FEZE
L£E 155344 ¢JL/ct

Draw a closed loop along the dotted lines that uses each grid point at most once.
The numbers indicate how many edges of the respective cells are part of the loop.
Answer Key: Enter the number of cells that are inside the loop for each row. For
example puzzle, answer key would be 155344.

3.1 0,
-0-1-1-
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15 ~ 16. EiI} (Tapa) [4 + 6 points]

U 7h A M FAHL. KA ia"'é* 2 giELich

BE 7{e7te SILtR olofx Qlofof Sto, 7HE 2x2 HEHE A4 & 4 glEL|ct,

Fo R2hs || QU= HE F F M H40F Hslof SH=AlE THLICH

Qtofof| gt Tholl £2t7h 27 of4f FojA Qo F HE Atojof| AMAUSHZ| k2 o] HEEA| 17H
|4 Qlofof Fhct

FEFL ;e TAE FofA 2} 7R] MEYENE Q2o AL, (MEGHH 1, T lod 0)

ojrle ZL FHEtFELE 10710, 11101 QL/ct

Shade some cells so that all shaded cells are connected and no 2x2 square is
completely shaded. Cells with numbers cannot be shaded. The numbers indicate
how many of the horizontally, vertically and diagonally neighbouring cells are
shaded: each number corresponds to a contiguous group of shaded cells, two such
groups are separated by one or more unshaded cells. Position and order of the
numbers within a cell are irrelevant.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right [top to bottom), using 1 for a shaded cell and 0 for an unshaded cell. For
example puzzle, answer key would be 10110, 11101.

d
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U15 BHAEE (Points table for U15)

- U15 : To be born in the first day of January, 2005 ~ last day of December, 2007
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2005' 19 125E 20079 12€¥ 31 Y Atojo| 485t Ath2 U5 ofl SHRFEILCE,
- itro| 2o of| 4} Fo| AlZtol| mi2t v ZA|otch ch2A| ofzien], of2{R ZA[7H 47

o7
F2[AHL 212 A7 oA E2l= &2 HA=7E UAS &+ USLIEL

HZ (Puzzle) Points
. 78=A| (Spiral Galaxies)
. 7H=A| (Spiral Galaxies)
. Easy as ABC

1

2

3

4. Easy as ABC

5. £0|L|A (Dominion)
6

7

8

. Z0|L|AH (Dominion)
. of%|2] (Yajilin)

. of%|2] (Yajilin)

9. &= (Aquarium)
10. £Z2 (Aquarium) 15
11. H&7| (Star Battle)

12. HE7| (Star Battle)

13. Cf2[Sl7| (Bridges)
14. C}2[Sl7| (Bridges)
15. Ef} (Tapa)

16. EfTt (Tapa)

A (Total) 100

Uulo N ~NwRoo s~

k=2

O NNNDNOODN
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U15 Puzzle
1 ~ 2. 7HHA| (Spiral Galaxies) [4 + 6 points]

2T P02 B FH|. LE Fojutct Ho| S glofof Sta 1 HE FAo2 180

£ 3 o|Zofof Fict
HEITE : HE A FolA FL ZAM AOIE T 7MY ofofx] QL Yt FML. afAlel
o

72 Feack 311, 221 Yot

Divide the grid along the grid lines into regions, so that each region contains exactly
one dot. Each region must have rotational symmetry, and the dot must be located in
the center of rotation.

Answer Key: For the marked rows/columns, enter the number of consecutive cells

in each region from left to right/top to bottom. For example puzzle, answer key
would be 311, 221.

—————————————————————————————

o o B o TTo

----------------------------------

o2 o
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3 ~ 4, Easy as ABC [9 + 11 points]

7t 7t2E, 7 MlzEof R Al Zuplo] g tiMnh So{ZhL|ct (L] &1 7H)
HpZof| offl Lmsil2 3 FolM 7 HA L& utdls Tl

FEZE - EE BAE Foff Fol7ks YAYE g/Fof FAHR. (BI7RE XE 2/F) 948 G2,
FEEEE XBCA, AXBC /L/ct

Enter the given set of letters into the grid, so that each letter appears exactly once
in each row and column. The letters outside the grid indicate the first letter in the
respective row or column, seen from the respective direction.

Answer Key: Enter the contents of the marked rows [columns) from left to right (top
to bottom), using X for an empty cell. For example puzzle, answer key would be

XBCA, AXBC.
(A-C) (A-C)
C B C B
C c[c B
g ) A
5N C B clc

x| >

> 0O

x| >
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UL 7hg A MaS) FAl2. YTo] MT The MUY 4 GALICH ¥ W MUY ofojct
1x2 B2 o £0|k S22 o|Zofof YLich, £0l SE7ja| AStaSE HoiML o Euict
SOl SE52 AUSH e YUSS TEO Eildl 2zl Mstr) gke gole zla 17
olAfe| fuplo| Qofot FLICt, E, 2L Yupimlal BE 2 olol 43 ofot Shnf, M2 cf
2 Yupyzla] 2 ool 4o oW o HLct,

FGAL : HE HAE FoIN 7 71 YEHE Y FML. (HeHH X, 1A ghodi ofy

Qaplof 2oft2] 92 ofr/el FL FHETEL CCCCXD, XAAXBX gLict

Shade some cells, so that each shaded cell is horizontally or vertically adjacent to
exactly one other shaded cell; in other words, the shaded cells form dominoes that
do not share a border. Cells with letters cannot be shaded. The dominoes may touch
each other diagonally, and by doing so they divide the grid into separate regions.
Each region must contain at least one letter. Same letters must be located in the
same region and different letters in different regions.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right (top to bottom), using X for a shaded cell and ‘the letter for a lettered

cell in that region’ for an unshaded cell. For example puzzle, answer key would be
CCCCXD, XAAXBX.

B[C

-----------------------------------

———————————————————————————————————
-----------------------------------

-----------------------------------

———————————————————————————————————

http://puzzlerace.org




8 7t %"H ZH12. *Hiafz W7j2| ASHAFQ.E o] oML oF EILICE RISt Bk Liniz]
BE 7lo| g Jof SiLte| £AHT2S A FMR. AL 7h2, MR Weo 2T 18 4 o
o, 22 Mol Bref7iLt B 1h 2 ek, ROR 270k YL 1 Yl s L 2

M2 JojML oF ELCt,

M toz2 & o{A £ UFLIEL)
Al t‘?EI-

1= rx

= u‘

’é*H’J_E c g 7/‘5501%% Aoz ZA MG 7RS pIEofA F Hm 712 Q2o FAL.
(F27to] geH 0= 2/3) dA/e 32 FEEZLEL 1040310 gL/t

Shade some cells and draw a closed loop that runs horizontally and vertically and
passes through each cell except the shaded cells and the clue cells exactly once.
Clue cells cannot be shaded, and shaded cells cannot be horizontally or vertically
adjacent (they can touch each other diagonally). The numbers indicate how many
shaded cells appear in the specified direction.

Answer Key: For each row from top to bottom, enter the column number of the
leftmost shaded cell appears. Enter ‘0’ if there are no shaded cells in the row. For
example puzzle, answer key would be 1040310.

70t 701 B
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9 ~10. £&2 (Aquarium) [5 + 15 points]
2 Hdoz EMQl ZF Joict M E= URE MAUSH FA|Q. ofof MU | b £E QU

GLict vPgof o7l £24H= 1 FoflA MG 7He E

7t FY Qtof|A 7HS AHEh mijof= A4S 7H

LIk (ZFRfol7h QUCHH clle|2 & £ UFLICY.

EQE G QoM M 7hE0| SiLtR olofx S B¢ I FEQ| 2h¢ Fol= Zolo FLcth
=

HEHIE  HE EAE SN 2 7H) YHYHE YA FHL. (YEHHH 1, 1H] grod 0)

Lo— L

1°
=
b
1o
4B

~—

gJAle] 7L ZFEfFCE 110011, 100000 ¢/L/Cf

Shade some cells in the grid such that each number outside a row or column
indicates the number of shaded cells in that row or column. Within each region, a
shaded cell may not have an unshaded cell directly to the left, right, or below it.
Additionally, a continuous group of shaded cells within a region must have a
constant height, if possible.

Answer Key: Enter the contents of the cells on the two marked rows (columns] from
left to right [top to bottom), using 1 for a shaded cell and 0 for an unshaded cell. For
example puzzle, answer key would be 110011, 100000.

5 21 3 1 5 21 3 1
5 5

B4 B4
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11 ~ 12, H=7| (Star Battle) [2 + 8 points]

2t 7t2E, 2 H2E, B2 Moz EaiMel 2 ool Fofdl &3t
M S TEM M2 k2 E 27071 Hollle & elatich
FEHEL o 2t Ff2FofH (AECZ) ol LfoL 7hHe EIEofA F Yl 7121z 9/ FA2.
Al FR, FEIEL 31524 QL/ct

Place stars into the grid, so that there are the indicated number of stars in each row,
column and outlined region. The stars do not touch each other, not even diagonally.
Answer Key: For each row from top to bottom, enter the column number of the
[leftmost) star appears. For example puzzle, answer key would be 31524.

1% 1%

|-I:|

b2l ol SofgLch. i

----------------------------------------------

*
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13 ~ 14, ct2[8l7| (Bridges) [2 + 7 points]

R27F Aol e AASH= A 2ojFMle. BE A 32 Fols 227 ARl ¥so] B o

Az|of Qlofof Lot FofRl RA= I fol|M Lt | 74 TELICH
gt fddf ohE A Atolofl= 2o 27H7pR|R e O £ len, A7 ARtz wAlsiME oF

LIk,

AL : I} Y OfF 2 PG ME Y OIF 12 HAE 7 2AHE Yo F
MR, ofAlef FL FEHZEE 3 2 L.

Connect the islands represented by circles via bridges, so that all islands are
interconnected. Bridges can be placed horizontally or vertically, and they cannot
cross each other. Two islands can be directly connected by at most two bridges. The
numbers indicate how many bridges start in the respective islands.

Answer Key: Enter the number of horizontal double bridges followed by the number
of vertical double bridges. For example puzzle, answer key would be 3, 2.
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G)

. EtTt (Tapa) [2 + 9 points]

L 5.’_*% A7l Al 2L, 2R1ZHS ia'fg £ QigLct
DE 77k SHtR olojx glofof Btoi, 7he 2x2 WEHZ AYH ¥ 4 glALch

ZOZl 2p ZMo| Qe 7S 3 F 7H2 U402 UsHof SH=A|S TLCE

Trofofl 3t 7ol 2217k 274 of4 Fofx QUOW £ & Atolof AAISHA| OpL Tho| HLEA| 17f
of4} Qlofof gict

LI : HE BAE FoYN I 74 MEYENE Y FAL. (MHHH 1, T gLed 0)

ojrle ZL FHEtFELE 10710, 11101 QL/ct

Shade some cells so that all shaded cells are connected and no 2x2 square is
completely shaded. Cells with numbers cannot be shaded. The numbers indicate
how many of the horizontally, vertically and diagonally neighbouring cells are
shaded: each number corresponds to a contiguous group of shaded cells, two such
groups are separated by one or more unshaded cells. Position and order of the
numbers within a cell are irrelevant.

Answer Key: Enter the contents of the cells on the two marked rows [(columns] from
left to right [top to bottom), using 1 for a shaded cell and 0 for an unshaded cell. For
example puzzle, answer key would be 10110, 11101.
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